T§X

e’ e A=\
HARWARRE HARDOWARE
Part%mber Type Sizing Materiaf Qﬁy
EH 803-107 Bolt 5/16 x 3/4 GRADE 5 20
EH 803-110 Bolt 5/16 x 1" GRADE 5 20
EH 803-115 Bolt 5/16 x 1%" GRADE 5 20
EH 803-120 Bolt 5/16 x 2" GRADE 5 20
EH 803-207 Bolt 3/8x3/4 GRADE 5 20
EH 803-210 Bolt 3/8x1" GRADE 5 20
EH 803-212 Bolt 3/8 x 134" GRADE 5 20
EH 803-215 Bolt 3/8 x 14" GRADE 5 20
EH 803-217 Bolt 3/8 x 1%" GRADE 5 20
EH 803-220 Bolt 3/8x2" GRADE 5 20
EH 875-210 Mé 1.0x 10MM METRIC 20
EH 875-212 Mé 1.0x12MM METRIC 20
EH 875-216 Mé 1.0x 16MM METRIC 20
EH 875-220 Mé 1.0x 20MM METRIC 20
EH 875-225 Mé 1.0x 25MM METRIC 20
EH 875-230 Mé 1.0x 30MM METRIC 20
EH 875-416 M8 1.25x 16MM METRIC 20
EH 875-420 M8 1.25x 20MM METRIC 20
EH 875-425 M8 1.25x 25MM METRIC 20
EH 875-430 M8 1.25 x 30MM METRIC 20
EH 875-435 M8 1.25x 35MM METRIC 20
EH 875-440 M8 1.25 x40MM METRIC 20
EH 875-450 M8 1.25 x 50MM METRIC 20
EH 875-460 M8 1.25 x 60MM METRIC 20
EH 875-520 M10 1.50 x 20MM METRIC 20

Made in India
1-844-ECAP-323



r§\

e e

Made in India
1-844-ECAP-323

HARWARE HARDOWARE
Part%mber Type sizing Material Qu%t(ity
EH 875-525 M10 1.50x 25MM METRIC 20
EH 875-530 M10 1.50 x 30MM METRIC 20
EH 875-540 M10 1.50 x 40MM METRIC 20
EH 875-550 M10 1.50 x 50MM METRIC 20
EH 875-560 M10 1.50 x 60MM METRIC 20
EH 875-570 M10 1.50x 70MM METRIC 20
EH 878-006 Mé 1.0 NUT METRIC 50
EH 878-008 M8 1.25 NUT METRIC 50
EH 878-010 M10 1.50NUT METRIC 50
EH 878-012 M12 1.75NUT METRIC 50
EH 878-210 M10 1.25 NUT METRIC 50
EH 879-006 Mé LOCK WASHER METRIC 50
EH 879-008 M8 LOCK WASHER METRIC 50
EH 897-010 M10 LOCK WASHER METRIC 50
EH 879-012 M12 LOCK WASHER METRIC 50
EH 879-205 M5 FLAT WASHER METRIC 50
EH 879-206 Mé FLAT WASHER METRIC 50
EH 879-208 M8 FLAT WASHER METRIC 50
EH 879-210 M10 FLAT WASHER METRIC 50
EH 810-010 STANDARD NUT 1/4 STANDARD 50
EH 810-011 STANDARD NUT 5/16 STANDARD 50
EH 810-012 STANDARD NUT 3/8 STANDARD 50
EH 810-013 STANDARD NUT 7/16 STANDARD 50
EH 810-014 STANDARD NUT 1/2 STANDARD 50
EH 822-010 STANDARD FLATWASHER 1/4 STANDARD 50



M

—ARPRWARE HARDWARE
ECA . . . Box
Part Number Type Sizing Material Quantity
822-011 STANDARD FLATWASHER5/16 STANDARD 50
822-012 STANDARD FLATWASHER 3/8 STANDARD 50
822-013 STANDARD FLATWASHER7/16 STANDARD 50
822-014 STANDARD FLATWASHER 1/2 STANDARD 50

Made in India
1-844-ECAP-323



